SAP ABAP table REXCITICI L {ICI List reporting}
REXCITICI L-MANDT = TO00-MANDT TOO0O

---"" ' MANDT [CLNT (3)]

TOO1

REXCITICI L-BUKRS = T001-BUKRS MANDT [CLNT (3)]
e BUKRS [CHAR (4)]

-7 TCURC

REXCITICI L-CURRENCY = TCURC-WAERS ~ _ 0N MANDT [CLNT (3)]
B " | WAERS [CUKY (5)]

_______________________________ TIVXCITICIPARAM

_REXCITICI_L-REDUCTION = TIVXCITREDUCT-REDUCTION 0..N MANDT [CLNT (3)]

\ CITY [CHAR (40)]

STt TIVXCITREDUCT

= — -

REXCITICI L-INTRENO = VIBDAO-INTRENO 0..N | MANDT [CLNT (3)]

REDUCTION [CHAR (2)]

Tt~ - VIBDAO

_______________ MANDT [CLNT (3)]
INTRENO [CHAR (13)]




